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14 | E |None 4HE-1 50 4HW4 420 470 10 EW320 9 3
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9 N | EW 4SE4 620 5DXN-3 500 120 3 EW550 -2 -2
10 E |Both 3NE-1 100 2NW3 150 250 6 EW50 4 3
11 S |None 4HE-3 150 2SN-2 100 250 6 EW10 4 3
12| W | NS 6SS6 1430 7SS-1 100 1530 17 NS580 13 12
13 | N |Both 4SW-1 100 3SwW3 140 240 6 NSO 3 4
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15| S NS 2DE3 110 1NE3 150 40 1 EW120 1
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9 | N|EW| 5DXN-4 800 4SE4 620 180 5 EW550 | -6 2
10 | E |Both] 3NW3 600 3DE3 110 490 10 EW50 | -11 2
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13 | N |Both| 2SE3 140 4sW-1 100 240 6 NSO -4 -3
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9 N EW 5DXN-3 500 5DXN-3 500 EW550 2 -2
10 E |Both 2NW2 120 2NW-1 100 220 6 EW50 -2 -4
11 S [None 3HW-1 50 2HW2 110 160 4 EW10 2 3
12| W | NS 7NN-2 200 6NS6 1440 1640 17 NS580 -13 -13
13 | N [Both 2SW3 140 4SW-1 100 240 6 NSO -4 -3
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9 N | EW 4SE4 620 4SE4 620 EW550 -2 2
10 | E |Both 2NW-1 100 2NwW2 120 220 6 EW50 4 2
11 | S |None 3DXS-4 800 3HW-1 50 850 13 EW10 -13 -2
12| W | NS 7NS-1 100 3NS7 720 820 13 NS580 -12 -4
13 | N |Both 4SW-1 100 4SW-1 100 NSO 3 -3
14 | E |None 4HW4 420 4HE-1 50 470 10 EW320 -3 -9
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9 N | EW 5DXN-3 500 4SE4 620 120 3 EW550 2 2
10 | E |Both 2NW3 150 3NE-1 100 250 6 EW50 -3 -4
11| S |None 2SN-2 100 4HE-3 150 250 6 EW10 -3 -4
12 | W | NS 7SS-1 100 6SS6 1430 1530 17 NS580 -12 -13
13 | N |Both 3SW3 140 4SW-1 100 240 6 NSO -4 -3
14 | E |None 4HW4 420 4HW4 420 EW320 -3 3
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9| N|EW 4SE4 620 5DXN-4 800 | 180 5 EW550 | -2 6
10| E |Both| 3DE3 110 3NW3 600 | 490 10 EW50 | -2 1
11| S |None| 4HXW-1 | 100 3HE3 140 | 240 6 EW10 | 3 4
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R txz 2% | NS | EW | 29223 | NS | EW | #8 | #6 | #8 | #6 | #8 | #6 Mean NS EW
9 N | EW 4SE4 620 2SE3 140 480 10 EW550 -2 -9
10 | E |[Both 2NE-2 200 3DE-1 100 100 3 EW50 6 -4
11 S |None 2SN2 110 3CXN4 570 460 10 EW10 3 -1
12 | W | NS 6SS6 1430 7SS-1 100 1530 17 NS580 13 12
13 | N |Both 4SW-1 100 2SE3 140 240 6 NSO 3 4
14 | E |None 4HE4 420 4HE4 420 EW320 -3 3
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9 | N|EW| 5DxN-3 500 5DXN-3 500 EW550 | 2 -2
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